Algebra IIb

GC-1
Solutions

1) y=12es \ :

(1898980 (7.89898,0)

ED ] 0 B

a: Vertex = (1,'92 ™ (3,-8)
b: f(x) opens: a b)down  c)left

c f(x)is: a@ b) skinny

d) right
) normal

d: domain is

f: axis of symmetry K=3

a) maximum @ ¢) neither

i y-intercept (O, -5

g: the vertex is a

h: the range is -g aQ)

3) y=x*-5x

e: x-intercepts 3‘ 1?0 790 g

(0,0)
¢ (5,0)
s
a Ve"exzw (2.5, 6.25)
b: £(x) opens: bydown c)left  d)right
o f@is: a)fst b)skinny
d: domainis & e xeintercepts 39,5

f: axis of symmetry x2S

githevertex isa  a) maximum c) neither
h: the range is g‘é.25/0°> i: yintercept_(9,0)

2) y=-2x*+2x+3
(0,3) (0.5,3.5)
{—0.82288,0) / (1.82288,0)
K3 0 5
a: Vertex = <O'§/ 35 *
b: f(x) opens:  a) up @ c) left d) right

a) fat ¢) normal

e: x-intercepts & ~O-2 |3

¢ f(x)is:
d: domain is

(
f: axis of symmetry _X= >

g: the vertex is a b) minimum ~ ¢) neither
h: the range is (-, E_Qj i: y-intercept ©,3 )

1 7
4 y=-3-27+ 5
(2,2.33333)
(0,1.33333) /.\
(~1.05505,0)
L4
(5.05505,0)
B
a: Vertex=_(2,2.33

d) right

b: f(x) opens: a) up c) left
c: f(x)is: b) skinny  ¢) normal

& domainis R e wintercepts 2= 1-06,5 O@

f: axis of symmetry _X= 2

g: the vertex is a b) minimum ~ ¢) neither
h: the range is § 0,73 g i: y-intercept (O[22

b: f(x) opens:  a) up @ ) left d) right
¢ f@)is: b) skinny  c) normal

d: domain is f
f: axis of symmetry A=7

g: the vertex is a b) minimum  ¢) neither
h: the range is C"QQ/ 7S i: y-intercept (O,~S

_ .12
5) y= 3475 |
0
1(0735 0) (13.245,0)
T n[ 0 £
(0.-5)
a: Vertex = (']/ 9.5 |

e: x-intercepts M“f SE




